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PHYSICAL EDUCATION s Mawm

PAPER - II Ty-11
Note :This paper contains FIFTY (50) multiple-choice assertation/reasoning/

matching questions, each question carries TWO (2) marks. Attempt All

the questions.
Al : o wswetil yr (40) ogRselly ssdl, WFWE A RSsE opriddlel W)

™

B, dMIM WatL was dvalit . uds wsl A () @ B,

1. How many countries participated in 1.  M8¥ S+l RAGBUSHL Jeal 2

the first modern Olympics ? oL dlal edi ?
A 11 A 1
(B) 12 (B) 12
(€ 13 (C) 13
D) 14 D) 14
2. Who was the founder Principal of 2. Cltl{.?ﬂll.%aﬁ;l. sidy s [Follsy
Y.M.C.A. College of Physical PUYIAA HElUAL 2Us 20All sig
Education Madras ? | Sl 7
(A) C.A. Bucher (A AW, oy
(B) H.C. Buck B) Aufl. as
(C) G.D. Sondhi © @.8l. Al
(D) D. Coubertin D) sl. 568l
3. Association Football in UK. is also 3. geolie dua y.3. #i (sl 3\
known as : AwH] waL diasuy 9
(A) Rugby Union (A) 296l y[ny«
(B) Rugby (B) R00f]
(C) Soccer (C) s
(D) American Football : D) w35 s20ild
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4. In which year Lakshmibai College
of Physical Education, Gwalior was
established ?

(A) 1961
(B) 1957
(C) 1958
(D) 1959

5. The contractile elements of muscle
are
(A) Sarcolema
(B) Myfibrils
(C) Epimysium
(D) None of the above

6. In ‘Pentathlon’ what does ‘Penta’
and ‘athlon’ stand for ?

(A) Five and Prize

(B) Six and Flowers

(C) Five and Leaves

(D) Five and Individuals

7. During heavy exercise, the supply
of blood increases towards :
(A) Brain
(B) Skeletal muscles
(C) Skin
(D) Kidneys

8. What is the percentage of water in
human body ?
(A) 50%

(B) 60%
(C) 70%
(D) 80%
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(A) 50%

(B} 60%

(C) 70%

(D) 80%
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10.

11.

12.

13.

14.

Anabolic steroids directly affect
to :

(A} Heart

(B) Muscle

(C) Lungs

(D) Brain .
Which of the following is a
narcotic ?

(A) Cocain

(B) Marijuana

(C) P.C.P.

(D) Morphine

What should be initial duration of
sauna bath ?

(A) 6 to 8 Minutes

(B) 5 to 10 minutes

(C) 15 to 30 minutes

(D) 1 hr to 2 hrs.

Boxer’s muscles are :

(A} Trapezius

(B) Sternomastoid

(C) Rectus abdominis

(D) Deltoid

Bone cells are also called :

(A) Osteoblasts

(B) Osteocytes

(C) Osteoclasts

(D) Osteoporosis

When hypothesis is rejected, which
hypothesis established ?

(A) Alternative '

(B) Positive

(C) Negative

(D) Mixed
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15.

16.

17.

18.
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17 teams are participating in knock
out tournament. The number of
matches to be played in the first

round :

(A) Seven
(B) One
(C) Five
(D) Two

Which sampling has chances of

Biasness ?

(A) Purposive sampling

(B) Deliberate sampling

(C) Random sampling

(D) Stratified sampling

Ability to distinguish between

conditioned stimuli and similar but
irrelevant stimuli :

(A) Generalization

(B) Discrimination

(C) Extinction

(D) None of the above
Synopsis means :

(A)
(B)
(C)
()

Research outline
Foot-notes
Complete Thesis
Graphs

15.

16.

17.

18.
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19.

20.

21.

The final event in Decathlon :
(A) Javelin

(B) 1500 meter race

(C) 110 meter Hurdles

(D} 800 meter race

Which aspect of personality enables
individual to decide between right

and wrong ?

(A) Ego

(B) Super ego

(C) Id

(D) None of the above

Which of the following is least

trainable ?

(A) Flexibility
(B) Endurance |
(C) Speeci

(D) Strength

Physical Edu.-II

19.

20.

21.

‘Ssiedin’ l Beddl md Sy B
(A) oledlds

(B) 1500 ¥le2 eis

(C) 110 Hl2: [(Aegls

(D) 800 Hlez ¢ls

A3 el s34l il ABZdA vl
2 vel (Rely Aaimi qee3y o)
6 ?

(A) 2183

(B) Al wyu

(C) Ss

(D) Guz-it 2syel AR

Asiell 56 onotad wlefl viie)

dAlell™ suuan] wd § 7
(A) aflalug]

(B) Asrialladl

© ala

(D) wl3d
[P.T.0.]




22.

23.

24.

Psychologist associates instinct

theory of aggression with :

(A) Sigmund Freud and Konard
(B) Alder and Jung

(C) Watson and Skinner

(D) Bandura and Martin

Who was awarded ‘Golden boot’ in

World Cup Football 2010 ?
(A) Honda

(B) Muller

(C) Sugoi

(D) Kamachi

Which of the following vitamins is
responsible for controlling body

weight ?

(A) By

(B) Bj

(C) Vitamin C

(D) Vitamin D
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25. Which of the following minerals 25,

26.

27.

28.

keeps brain, nails and hairs
healthy ?

(A)
(B}
(C)
)

Potassium
Sulphur
Phosphorus

Calcium

26.

The formula for computing Z-score
18 :

X-M

S.D.
M-X

S.D.

X+M
S.D.

None of the above

(A)

(B)

(C)

(D)
‘Micro cycle’ involves training of :
(A) One week

(B) 6-8 weeks

(C) 8-10 weeks

(D) 1-2 weeks

Whoe was the star player of Japan
in Football World Cup 2010 ?
(A) Kamachi

(B) Sugoi

28.

(C) Hinguin
(D) Honda
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29.

30.

31.

Which is the most effective method 29,

for self learning ?
(A) Demonstration method
(B) Lecture method

(C) Observation method

(D) Task method

The impulses that travel from CNS
to muscle are called :

{A) Efferent

(B) Afferent

(C) Sensation

(D) All of the above

Concept of mental age was given
by :

(A) Stern

(B) Gaulton

(C) Binet

(D) Watson
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32. First test of intelligence was
developed by :
(A) Binet and Simon
(B} Pavlov and Watson
(C) Terman and Merri
(D) Maslow and Mcdougall

33. Surplus energy theory of play was

given by :
(A) Medougall
(B) Lazarus

(C) Karl Groose

(D} Herbert Spencer ‘
34.

What is the percentage of muscle

in human body ?
(A) 40%
(B) 60%
(C) 80%
D) 100%
35. Example of slow twitch muscle is :
(A) Pectoralis major

(B) Gluteus maximus
(C) Solens

(D) Trapezius
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32.
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34.

35.
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(A) 40%

(B) 60%

(C) 80%

(D) 100%
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36.

37.

38.

39.

Cireuit training is effective method

for development of :

(A) Speed

(B) Flexibility

(C) Strength endurance

(D) Agility

For developmenf of strength

endurance, the intensity of work
load should be :

(A)
(B)
()

80-100%
75-80%
60-70%
(D) 40-60%

Which country won bronze medal
in the World Cup 2010 Football ?
(A) Brazil
(B) Germany
(C) Spain
(D) Italy

The

18 :

strongest muscle of the body

(A) Rectus Femoris
(B)
(C)

)

Soleus
Sterno Mastoid

Biceps
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39.
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(A) 80-100%

(B)
(C)
(D)

(B) 75-80%
(C) 60-70%
D) 40-60%
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40. Action Research in Physical

41.

42.

43.

Education is concerned with :

(A) Immediate classroom problem
(B) Experimental studies

(C) Correlation studies

(D) Laboratory problem

Lateral deviation of the spine is
present in :

(A} Kyphosis

(B) Lordosis

(C) Scoliosis

(D) EKnock-knees

Which of the following attaches

skeletal muscle to bone ?
(A) Ligament

(B) Tendon

(C) Actin

(D) Myosin

Which of the following is essential

for fast healing of wound ?
(A) Fat

(B) Protein

(C) Minerals

(D) Cérbohydrates
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44.

45,

46.

47.

How many total matches in League
tournament will be played when

teams are 6 ?
(A) 5

(By 7

(C) 15

(D) 10

Number of items in Kraus-Weber

test are :

(A) 5

(B) 4

(C) 6

(D) None of the above
Johnson test is meant for :
(A) Football

(B) Basketball
(C) Hockey
(D) Volleyball

In which Grand Slam tournament,
white dress code is compulsory for

players ?

(A) French Open
(B) Wimbledon

(C) Australian Open

(D) American Open
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47.
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(A) 5
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(A) 5
(B) 4
C) 6
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48. Curriculum should be based 48.
according to need of :
(A) Teacher
(B) Syllabus
(C) Child
(D) Institution
49. Murdecca Cup is associated with : 49.
(A) Athletics
(B) Hockey
(C} Football
‘ (D) Basketball
50. Match list T with list IT and select 50
the correct answer using the code
given below :
List I List II
@ FINA (1) Table Tennis
() FIDA (2) Athletics
() AAFI (3) Swimming
(d) TTFI (4) Chess
Code :
@ & © @
Aa 3 @ @ (1)
B) 1O @ @ (4)
€ @ @ @ @
D O @ 3 @
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ACARASHAL WAL Slal BSR
(A) [as

(B) doqusy

(C) euas

(D) Ay

HAS5L U A 56 3 WS D ?
(A) “dse

B) sifl

(C) se2old

(D) elRbeslq

N2 200 dlze T 213 flre 1T 4y
531 12 20 Sisell wier2 waig 53

dlee 1 dle 11
(@ FINA (1) Table-tennis
(6) FIDA (2)  Athletics
(¢) AAFI (3) Swimming
(d) TTFI (4) Chess
Code :

@ ® © @

@ @ @ @ .

B @ & @ @

€ ® @ @ @

@ O @ @ @
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ROUGH WORK
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